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Problem 2. Find the equation of the tangent line to the graph of f(z) = ¢*~3
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Problem 4. Use implicit differencistion to find T or the following:
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Problem 5. Differentiate implicitly and find the equation of the tangent line at the given point.
(1) 2* +y* =4 at the point (1, —/3).
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Problem 6. The price demand function, p(x)
T) is

(—0.01z —2)*+303, , is for a brand of towels
p(z) is the price in dollars, per towel, when there is a demand for = towels
(1) Find the(marginal devenue function.
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(2) Find the marginal revenue when 150 towels are sold. Interpret your answer
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Problem 7. A bank account has an initial balance of $400,) The account earns interest at an
annual rate o %

per year compPunded continuously. How fast is the account balance growing
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Problem 8. Use the table below to answer the following questions

X -6 | 0 |58 64
f(x) | 30 | —6 |19 | &5 | 4090
flx) | =12 0 | 10| {5 | 128
gx) | 24 | O | 35|80 | 4224
g'(x) | —=10| 2 [ 12118 | 136

(1) Fin if h(z) = 2? — 3(g(x))*
WG = 2x — 3-1{g6o) - g 6
W& = 26D - ll(od(;))B, al(s)
= lo- 12(3sY- (1)
= — 6113310

(2) Find /(8 if h(z) = 5 fl_(z)gﬁz
W)= 5 £ a(x>) + 5£6D a’(;o).ﬁ,x
h'(8) = s £'c8) 3®0 1 fE)q (608
= s(le)(f22%) + (58)(J20)
= Aul, 12,

s/
(3) Find 1'(x) if h(z) = f(g(f(x) +3))
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